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Stability 4 
 
Multiple Choice Quiz 
 
TI Precision Labs – Op Amps 



Quiz:  Stability 4 
1. (T/F) It is practical to make open-loop measurements on most circuits 
being tested in the lab 
a.! True 
b.! False 
  
2. (T/F) It is possible to indirectly measure the phase margin of a circuit 
through transient and frequency domain behavior.   
a.! True 
b.! False 
  
3. (T/F) The circuit phase margin is ______ proportional to the magnitude 
of %overshoot and ac peaking.  
a.! Indirectly 
b.! Directly 

 
4. (T/F) Output loading should be removed from the circuit before 
performing indirect stability methods. 
a.! True 
b.! False 



5. (T/F) Input filtering should be removed from the circuit before 
performing indirect stability methods. 
a.! True 
b.! False 

 
6. (T/F) Indirect stability testing can directly indicate the root cause of a 
circuit  stability issue.  
a.! True 
b.! False 

 

Quiz:  Stability 4 
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Quiz:  Stability 4 
1. (T/F) It is practical to make open-loop measurements on most circuits 
being tested in the lab 
a.! True 
b.! False 
  
2. (T/F) It is possible to indirectly measure the phase margin of a circuit 
through transient and frequency domain behavior.   
a.! True 
b.! False 
  
3. (T/F) The circuit phase margin is ______ proportional to the magnitude 
of %overshoot and ac peaking.  
a.! Indirectly 
b.! Directly 

 
4. (T/F) Output loading should be removed from the circuit before 
performing indirect stability methods. 
a.! True 
b.! False 



5. (T/F) Input filtering should be removed from the circuit before 
performing indirect stability methods. 
a.! True 
b.! False 

 
6. (T/F) Indirect stability testing can directly indicate the root cause of a 
circuit  stability issue.  
a.! True 
b.! False 

 

Quiz:  Stability 4 
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1.! Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! 
phase margin? 

V-

V+

V- V+

Vo
-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 10n

R1 1k R2 19k
+

Vin

R3 1k

C1 2.2n

1334 - Stability 4 - Problem 1.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%201.TSC


2.  Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! phase 
margin? 

V-

V+

V- V+

Vo
-

+ +3

2

6
7

4

OP AMP

V1 -15 V2 15

CLoad 10u

R1 1k R2 1k

+

Vin

R4 10

1334 - Stability 4 - Problem 2.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%202.TSC
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1.! Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! 
phase margin? 

V-

V+

V- V+

Vo
-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 10n

R1 1k R2 19k

+

Vin

Vo/Vin = 1+(19/1) = 20V/V
Vo = 10mV
Vin = 500 !V

 
!
                
 
 

1334 - Stability 4 - Problem 1 -Solution.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%201%20-%20Solution.TSC


1.! Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! 
phase margin? 

V-

V+

V- V+

Vo
-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 10n

R1 1k R2 19k

+

Vin

Vo/Vin = 1+(19/1) = 20V/V
Vo = 10mV
Vin = 500 !V

 
!
                
 
 

1334 - Stability 4 - Problem 1 -Solution.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%201%20-%20Solution.TSC


1.! Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! 
phase margin? 

V-

V+

V- V+

Vo
-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 10n

R1 1k R2 19k

+
VinL1 1T

C1 1TVfb

1334 - Stability 4 - Problem 1 - Solution2.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%201%20-%20Solution2.TSC


2.  Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! phase 
margin? 

V-

V+

V- V+

-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 1u

R1 1k R2 1k

+

Vin

R4 1

Vo

Vo/Vin = 1+(1/1) = 2V/V
Vo = 10mV
Vin = 5mV

 
!
                
 
 

1334 - Stability 4 – Problem 2 - Solution.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%202%20-%20Solution.TSC


2.  Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! phase 
margin? 

V-

V+

V- V+

-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 1u

R1 1k R2 1k

+

Vin

R4 1

Vo

Vo/Vin = 1+(1/1) = 2V/V
Vo = 10mV
Vin = 5mV

 
!
                
 
 

1334 - Stability 4 – Problem 2 - Solution.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%202%20-%20Solution.TSC


2.  Simulate the percent overshoot and ac gain peaking for the following 
circuit.  Based on these indirect measurements, what is the Aol! phase 
margin? 

V-

V+

V- V+

-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 1u

R1 1k R2 1k

+

Vin

R4 1

Vo

Vo/Vin = 1+(1/1) = 2V/V
Vo = 10mV
Vin = 5mV

 
 

1334 - Stability 4 - Problem 2 -Solution2.TSC 

http://training.ti.com/system/files/docs/1334%20-%20Stability%204%20-%20Problem%202%20-%20Solution2.TSC
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